[image: image1.png]P(k).

0.1
0.08
0.06

0.04

0.02

1000

10 20 30 40 k 50 60

800 |

600 |

p(s

i

)

400 |

200 |

N(N‘l) = 24,531 total interactions
2
E
T, T3 (T,

0.0‘02 0.004 0.006 0.008 0.01 0.012 0.014 0.016 0.018

0.02




Figure S4.  Threshold dependence of node distribution 
The node distribution (i.e. probability that a phosphorylation site is linked to k other sites) 
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is plotted for four values of the threshold 
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; an interaction between sites i and j is counted if
[image: image4.wmf]ijk

JT

>

 a.) 
[image: image5.wmf]2

4

10.010

Tx

-

=

, b.) 
[image: image6.wmf]2

3

7.510

Tx

-

=

, c.) 
[image: image7.wmf]2

2

5.010

Tx

-

=

, d.) 
[image: image8.wmf]3

1

2.510

Tx

-

=

.  e.) histogram of 
[image: image9.wmf]with the locations of different thresholds denoted.      

_1267636195.unknown

_1267697928.unknown

_1267697936.unknown

_1267636216.unknown

_1267635880.unknown

_1267636143.unknown

_1267635667.unknown

_1181986378.unknown

